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1. Suppose a worker at a computer company rearranges sxisting machines and
labor and increases production in the process. Using the production function,
with output on the vertical axis and labor on the horizontal axis, this would be
described as |
a. an upward shift of the curve combined with an upward movement along the
curve,
a movement upward along the curve.
a movement downward along the curve.
a downward shift of the curve.
an upward shift of the cusve.
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2. Because marginal pmduct ducrmeu as input is, mctoased

a. nothing is unphed sbout how much input i 18 mqulred to produce one
more unit of output. .

b. it takes decrcasing amounts of input to ptoducu one more unit of
output. | -

¢c. it takes' mcreamng amounts of input to produca one Taore unit of
autput | |

d. the amount of input it takes to produce one mora unit of output does
not changﬂ |

e it takcs zuro mput to producn one more unit of output

3. With munupnlmtic compotltinn, marlwt dmand is
a, cunstantly changmg

b. honzontal.

¢. the same as firm demand,
d. nonexistent.
&

like any other market demand.

4. Reputation and cooperation are more difficult to achieve when
a. firms find it difficult to observe the behavior of other firms,
b. agame is repeated, |
c. there are only two firms as opposed to having three or more firms.
d. firms can easily observe what the others are doing.
e. firms act out of their own self-interest.
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5. The chance a firm takes in defecting from a cooperative solution to a game
iz that
8. the firm will immediately suffer lower profits as a result of defecting.
b. the noncooperative solution causes profits to fall.
¢. cooperation will result in lower profits in the future.
d, cooperation will be difficult to resstablish and profits will be sacrificed.
¢. all firms know the actions of each other.

6. Refer to the figure below. W'hit:h of the following statements is trus?

a. A per-unit tax will result in thu greatest reduction of oufput in the
market illustrated in Flguru B

b. No deadweight lnsa from a pﬁr—umt tax will result in either of the
markets lllustrated |

¢. A per-unit tax wﬂl tesult in the greatut deadweight loss in the market
illustrated in Figure A -

d. A per-unit tax will result in the greatest loss ot‘ comm aurplus in the
market {llustrated in Figure A. -- --

e. A por-umt tax will result in the smallest pricé chnnge ins the mnrket
111ustratod in Figure A, -

7. The effect of the personal incoms tax on the amount of {abor cmploycd hl
the economy is greatest when
8. demand and supply are both relatively elastic.
demand and supply are both relatively inelastic,
demand ja relatively inelastic and supply is relatively elastic.
demand is relatively elastic and supply is relatively inelastic.
both supply and demand do not exist.
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8. In looking at the distribution of income provided by quintile statistics and
the Lorenz curve, it must be kept in mind that
a. all individuals with high incomes have a ot of wealth, whercas all
individuals with low incomes have very little wealth,
b. those who are poor generally stay poor, and those who are rich
generally stay rich. |
¢. when families split up, the two new families formed move down in
terms of income into lower quintiles.
d. income per person is being measured.

9. Radio apd television broadcasting services partially avoid a froe-rider
problem by | - |
a. using advatﬂsmg to pay fur tho snﬂ'lcu
b. converting the smcu from axcludable to numxcludablc goods.
c. cnnverting the services from private to public good.u
d. bruadnasting unscrnmbled programs through the air.
e. charging the gnvenununt for their services.

10. The Cuase thaorem warks provided that
a. the transactions costs of an agreement are above a high level.
b. the transactions costs associated with an agrmant are low compared
to the com of the externality itself, |
c. the cosis nf an nxtemahty itself are luw nomparod to the transactions
COBtS nf an agre:m:nt. . S
d. both partu:a are willing to mgoﬂate with uach other.

¢. transactions costs of rn agreement are hxgh uumparnd to the costs of the
externality itself. |

11. Emission taxes ha;ru an advantage over taxes on production in that
a. they change the finn's output whereas taxes on production do not,
b. the firm's amount of pollution associated with its production will not
change.
¢. the firm can use tochnology to change the amount of pollution
associated with its production.
d. they do not raise the firm’s prices whereas taxes on production do.

e. the firm can increase the amount of pollution associated with a given
amount of production. .
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12, Which of the following statements is true when the Fed increases reserves
by buying a government bond from a bank?
a. The amount of reserves in the banking system will increage by an
amount greater than the amount of the bond purchase,
b. The amount of loans made by the banking system will inorease by the
amount of the bond purchase. |

¢. The amount of loans made by that bank will be greater than the increase
in reserves,

d. The amount of deposits made by the banking system will increase by
the amount of the bond purchase,

¢ The amount of reserves in the banking system will incroase by the

~ amount of the bond purchage, =

13. Which of the following 'lta:tement_s is true? .
a. Markets respond to consumer prufarance;i,'.:'whmu government
responds only to sacietal preferences, . .
b. Markets keep costs low out of producers’ desires. to please people,
regardless of cost. - o
Govemment keeps costs Jow due to its moral obligations to voters,
d. It is safo to assume that government will do what ig best for society
whereas markets do what is best for ownars of bﬁ;inuuaea.
e. The lack of profit motive encourages supervisors in government
agencies to make decisions cnncummgmplnyeu on the basis of issues
other than merit, . L |

L

II. Firm X and firm Y are the only two Internet proﬁdm in a small town. The
demand for Internet subscriptions is P = 60 — Q. Neither firm X nor firm Y has |
any fixed costs. The marginal cost of firm X is constant at $10, and the marginal .

cost of firm Y is constant at $20. Bach firm can sell sither 10 or 20 subscriptions,
and they meet only once in this market,

& Show your caloulations and create the payoff matrix. (6 53)
b.  Find the Nash equilibrium or equilibria. (7 43)

C.  Ifthere are multiple equilibria, which equilibrium do you think is most
likely to occur and why? (7 43)
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